Question 1: The university administration believes that there is a significant difference in the reasons why people drink between males and females.  In one sentence, identify if there is a significant difference between males and females (be sure to provide the appropriate statistics and p-values).  What percentage of males say they drink alcohol because it’s the only way to have a good time?  What percentage of females drink because they enjoy the taste?
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There is not a significant difference in the reasons why people drink between males and females (X2 = 5.655, p ≤ .130).

18.7% of males say they drink alcohol to have a good time.

23.3% of females say they drink because they enjoy the taste

Question 2:  Melody, the bartender at the local watering hole, believed that student preferences differed for shots depending on how they classified themselves in terms of drinking (non-drinker, social drinker, moderate drinker, heavy drinker).  In one sentence, identify if there is a significant difference in the preference for shots by drinking self classification (be sure to provide the appropriate statistics and p-values).  If there are any significant differences, what are they?  Who likes shots the most?

Oneway
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Post Hoc Tests
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There is a significant difference in preference for shots by drinking self classification (F = 4.822, p ≤ .003).  There are significant differences between heavy drinkers (mean preference = 5.22) and nondrinkers (mean = 2.85), social drinkers (mean = 2.85) and moderate drinkers (mean = 3.31).  Heavy drinkers like shots the most.

Question 3: The President of the University believes that, based on conversation with the head of the police department, WEU students drink far more than the national average.  In one sentence, identify whether or not WEU students differ from the national average (be sure to provide the appropriate statistics and p-values).  How many drinks, on average, do WEU students drink in a typical week?

T-Test
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WEU students differ from the national average in the number of drinks they consume each week (t = 7.952, p ≤ .000).  On average, WEU students drink 4.53 drinks per week.

Question 4: One of the brothers in Pi Mu Beta, a fraternity on campus said that women and men at WEU differ in their preference of lite beer.  In one sentence, identify whether or not there is a difference between men and women in their preference for lite beer (be sure to provide the appropriate statistics and p-values).  Who prefers lite beer more, men or women?  Is the result what you expected?  Why or why not?

T-Test
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There is a difference in preference for lite beer between men and women (t = 2.597, p ≤ .011).  Males prefer lite beer more than females.  

This isn’t what I expected.  I though women might prefer liter beer more than men because of it contains fewer calories.

Question 5: The university administration believes that there is a significant difference between those who do and do not belong to a fraternity or sorority as to whether or not they drink alcohol.  In one sentence, identify whether or not there is a difference between Greeks and non-Greeks (be sure to provide the appropriate statistics and p-values).   What percentage of those who drink alcohol do not belong to a Greek organization? 
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There is a significant difference in whether or not a person consumes alcohol by whether or not the student belongs to a fraternity or sorority (X2 = 10.722, p ≤ .000).  

63.7% of those who do drink so not belong to a fraternity or sorority.

Question 6: Past research showed that college students, on average, rated wine coolers a 5.2 on a 1 to 7 scale where a “1” is I do not like and a “7” is I like very much.  Dr. Jekyll thinks that WEU students differed from the national average in terms of their preference for wine coolers (wcooler).  In one sentence, identify whether or not WEU students differ from the average college students in terms of their preference for wine coolers (be sure to provide the appropriate statistics and p-values).
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WEU students differed from the average college student in terms of their preference for wine coolers (t = -9.003, p ≤ .000).

Question 7: The Director of Greek Life (and former party animal) believes that people who belong to a fraternity or sorority go out on average more nights per week than their non-Greek classmates.  In one sentence, identify if there is a difference in the number of nights a student goes out on average between Greeks and non-Greeks (be sure to provide the appropriate statistics and p-values).

T-Test
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There is a significant difference in the number of nights a student goes out per week between Greeks and non-Greeks (t = 2.626, p ≤ .010).

Question 8: Students were asked their level of agreement or disagreement with the statements I am a party animal  and I am religious.  The chair of the Religion Department believes that students who state they are religious would not also say they are party animals.  In one sentence, identify if the chair’s position is indeed true (be sure to provide the appropriate statistics and p-values).

T-Test
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The chair’s assertion would be true as there is a significant difference in a student’s level of agreement/disagreement with “I am a party animal” and “I am religious” (t = -15.613, p ≤ .000).  

Question 9: The average WEU takes 14 credit hours per semester.  The advising coordinator, Ms. Schedule, believes that there is a difference in the number of credit hours taken by an individual’s work status.  In one sentence, identify whether or not this difference exists (be sure to provide the appropriate statistics and p-values).  If there are any significant differences, what are they?

Oneway
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There is a significant difference in the number of credits students take each semester by work status (F = 7.302, p ≤ .001).
There were significant differences between those who worked 20 hours or more each week (mean credit hours taken = 13.37) and students who did not work (mean credit hours = 14.86) and students who work less than 20 hours each week (mean credit hours = 15.20).
